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Lift

Drag <—— —> Thrust

:

Weight

506. Which force is responsible for keeping the  506. LLiﬂmﬁﬁﬂﬁLﬂ%‘mﬁuaaEJE)E‘JJ'ﬂaNmmﬂVLﬁ

plane in the air?

(A) drag (A) WIIFUDINA
(B) lift (B) wssan

() weight (C) ¥mith

(D) thrust (D) ussuindon

195une: wseen [Fuden (B)] Aeuseivilviesesuasuagnaleinielauagauiuiivin

= D

U A A a e A a , & o 4' U A = ¢

Wden (O] veuesesdu (Ruasesduasginu ussdumdau [Faiden (D)] 1nesesusiuay
) A a v A Y 2 P U A = Aaa )

f‘JLLi\W]NaﬂLﬂﬁ@\‘]‘U‘UIWLﬂﬁ@UVﬂU“U'N%U'] FAULTINIUDINA [AILADN (A)] ABLIINUNANIINTINU

e Db

@ =

wiumMsafeunvasingiaue

=
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541. Select the chemical equation that is

correctly balanced.
(A) Mg + Cl, —> 2MgCl
(B)CH,+ O —>HO +CO,
(C) 2AL + 3CL, — 2ALCL

(D) 2Na + O, — NaO

541. denmeuninaaun1siailagnees

(A) Mg + Cl — 2MgCl
(B) CH4 +0— HZO + CO2
(O) 2AL + 3Cl2 — ZAlCl3

(D) 2Na + 0, — Na©O

A193UNE: NYNITOUSNENIANENIIITIUIUDLABUVBISTINUARETIAABIALANTIIABIRIYBIANNTT fa-

den (O) Fsgnseamsneianeunasnaaljisen Snnusznenveserglilleudnuluasuazduiy
aznenvanassudnuiunn dudeon (A), (B) waz (0) Wiilulumungdsnanialumaeuiiin

The periodic table organizes elements
based on their atomic structure. The periodic
table has rows (called periods) and columns
(called groups). The group tells you how many
valence electrons the element possesses,
whereas the period tells you how many energy
levels the atom has. Here is a simplified period
table showing the first three periods of the

Group A elements:

1A

A1319579 T 3895106119 9 aulaTIasia
aznau TunseazUsenauluilsuniiuiueu
YD (A1U) UATUNWLIRIVDINTI (Vi) my]
venduauddianaseureuiazens Tuvay
feuveniusazseiisefundsnuitu mane
51998199 18A LA ANLATLAINATULIN VDY
519NA A

Science
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542. How many valence electrons does a 542. 9gRoUTBITWANTUDY (51971 ydnual C)

carbon atom (symbol C) have? Jnlaudsiannsouminls
(A) 4 (A) 4
(B)6 B 6
Q12 Q12
(D) 18 (D) 18

Arsune: mldusvendnunleuddidnnseuvessis msveusyluny 4 Jediauddidnnseu

LY

4 a7

o/ -4

AwN: periodic table n. 11319519 | structure n. 1asea$na | simplified adj. ignvitliidnladng

543. Which of the following elements is the 543, 519lasiolULTUFAZ oM ATisuLsetiosiian

least chemically reactive?

(A) fluorine, based on its seven valence (A) an’eﬁu wsddanauddiannsau

electrons (B) fimau wzlusinny 8

(B) neon, based on its Group 8 status (©) Aoy meiniaauddidnasou

(O) lithium, based on its one valence (D) Fawlos wsrziivniaudsidnnsou
electron
(D) sulfur, based on its six valence

electrons

Arasune: Wesmyhuiisen smesneteuiifiveuddidnaseuduuenaansudiuiu snnmy 8
fidnnunauddidnaseutuuengaasumudwuedIsliresvihufizen

AW: reactive adj. MU AZeN

(%

544. Which of the following statements about 544, deauAeaiuludey (s19ilddydnwal Na)

sodium (symbol Na) is NOT true? Felasiolliin
(A) Sodium has 11 electrons. (A) el 11 Biénnsou
(B) Sodium has 23 neutrons. (B) Tunhaudl 23 Hansau
(O) Sodium has 3 electron shells. (O Twieusiudonsidnasou 3 tu
(D) Sodium’s first energy shell can hold a (D) izﬁuwé’mu%uLLsﬂqmﬁuaﬂ%LﬁamaﬁJub’f
maximum of 2 electrons. WNgn 2 Bidnaseu
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o _a A a aaa Ao A ¢ — A A a o = o
A1asue: Wainujisenaiidniivgnisalegsgaumgiieu udsurteiinfingniuun 13136
fiden (A), (B) uaz (D) ¢ veumarausanaudwieiulagliseafaufisenad daden (C) 3

ANADY
U

Al liquid n. Y09L¥a7 | occur v. LRy

Normal Reaction

T

Friction <—

M

——> Pulling force

l

Weight

582. If the block has a mass of 2 kg, what is

the approximate force on it due to gravity?

(A) 2 N
(B) 10 N
(C) 20N

(D) 40 N

nsyunnsen

ISVIFYANIU ~—o M > IISUAY

% -
uanun
582. MNNNABILLIA 2 Alansy wIaNNTLIinee
naBLNSIELsUNaeTA vl
(A) 2 937y
(B) 10 Hasu
(C) 20 H6u

(D) 40 Hanu

A195UNY: ussfinseymenassng 2 Alansuinszusalunalsasiavinudivinuesnass (mg

o m Avnanay ¢ ADAINLTLNTIZLIITINEN) WeIIn ¢ WinAU 9.8 lnTreIUIinIasde &9

Uszanadld 10 waseduniimdsaes Wetnniinfie mg = 2 x 10 = 20 #uden (C) Fsgnees

AW: gravity n. AlTunns
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583. If the block has a mass of 2 kg and the
pulling force and the frictional force acting
on the block both equal 20 N, what is the

acceleration of the block?

583. DNABINLIAVINAU 2 DlanSULALLSIAINU
LILAIANIUNNTEYINRNaBITAYINAU 20 TaFu

7198 AULIIVDINEBIABVBLA

Y

(A) 0 m/s’
(B) 10 m/s?
(C) 40 m/s”

(D) The acceleration cannot be
determined without additional

information.

(A) 0 m/s”
(B) 10 m/s?
(Q) 40 m/s?

(D) Teyaluiiiganslviduinnlnuss

ANB5UNY: LUDI9INNILTIAILAL LI LA ANIULVUIAYINAUBAN SV B NI lUAANIINTIN WYY

wsevisaesagindsiuesivlifiussliaunadulanseviviondes Welifussliaunansyvinse

naee napsdlifinnnuse ilviiuden (A) WWummauiignses

o -3

AWN: frictional force n. w3sL@aANIY | additional adj. LisILAL, NALLTIIN

(A) The pulling force must be greater than
the frictional force, but the weight of the

object is equal to the normal reaction force.

(B) The pulling force must be greater than
the frictional force, and the weight of the
object is greater than the normal reaction

force.

(C) The pulling force must be equal to the
frictional force, and the weight of the object

is equal to the normal reaction force.

(D) The pulling force must be equal to the
frictional force, but the weight of the object

is less than the normal reaction force.

584. If the block is moving at a constant velocity, 584. drndeupdeuiisieninuimd denule
then which of the following is a true statement? saluiliduass

1%

(A) BSIAIADIUINNITBITBFLANIULLAUNLN
YaIIngIuLTIUNATEN

(B) WIIAIABININAINLSIFUANIULAL UMD
YBIINUINNIM TR

(C) WIINIABWNINULITAFIANIULASUINTIN
vaeIngwiniuusaujnsen

(D) LS9PADIVINAULTHEANIUBALNNALN
Y83 UeNIIIULATEN

A1esuTe: Wewnnaeshaundeudisnennusaned naesdaliiinnuse nguesdadunaisi

mnlafusednsnsvvinsionaes urazausdluudazians @uuazawsednguazuin) doeinans

AULBY PITULTIVIEDIRDITALVINAU
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CH O +60 > 6CO + 6HO + energy
6 12 6 2 2 2

612. Which is the name of the compound

whose formulais CH O ?
6 12 6
(A) chlorophyll
(B) propane gas
(O glucose

(D) cellulose

CH O +60 > 6CO + 6HO + Wasu
6 12 6 2 2 2

612. FolaselUiifetevesansuseneuiignsiedl
CH O
6 12 6

(A) anelsilad

(B) Awlusinu

(© nglaa

(D) waglaa

a ¥

A1asue: ansuszneululanddenglad duden (O Fudurmeuiignses

Y

Awn: compound n. @15Usgney | formula n. gns

613. Which is the name of the compound

whose formula is H,0?
(A) hydrogen peroxide
(B) water
(O) oxygen dihydride

(D) glucose

613. Talasolulifevevesansusenauiiiansiadl
HO
2
(A lalasiaumasoantas
(B) ¥n
(©) sandaulalalasa

(D) nglad

A1asune: ansuszneululanddet fuden (B) Sudufmeuiignses

614. Which is the name of the compound

whose formula is CO ?
(A) carbon
(B) carbon monoxide
(C) carbon dioxide

(D) glucose

1%

614. TalasiolUilfievavesansusenaunilansiadl
co
2

(A) ASUDY
(B) Amsuaunauanlym
(C) asuaulaaanlan

(D) nalaa

Aresune: ansuszneululandfenisuaulasenled dauden (C) Fulumneuiignsies

Science
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Earth’s atmosphere can be divided into

several layers, including the troposphere, the

stratosphere, the mesosphere and ionosphere,

and the thermosphere. The temperature and

altitude of each layer is listed in the following

yssenAvadtansuilavanedu FeUsenau
Tumetulnsinailes anslnailes Slaailesiay

lololuaifles uasinesluailes gamgiuazay

gavedwsiaztuaglumseua

table.
. Temperature z AUNNA
Layer Altitude . YU AUES N P
(Degrees Fahrenheit) u (armvsulad)
Troposphere 0 to 5 miles Average 60 degrees nslwaiiles 095 lua 60 aarlneiade
Stratosphere 6 to 30 miles -75 to 32 degrees anglnailos 6 1930 lud -75 84 32 996
Mesosphere Awanilosuas ~ . <
] P 31 to 50 miles -212 to 32 degrees ~ g 31 fi9 50 lud | -212 i 32 9ee
and ionosphere Tololuailes
Thermosphere | 43to51 miles | Thousands of degrees wasluaies 43 fig 51 lud MAENUDIA

695. In which layer of the atmosphere do

most humans live?

(A) troposphere

(B) stratosphere

(C) mesosphere and ionosphere

(D) thermosphere

¥
a

695. uyudadulvgordveglutuusseiniela

(A) Wnsinaies
(B) @nslaailes

4

s

©) Maadesuazlololuaies

(D) waskuaes

] v
= [

A1asune: uywddilngandvedlnanuialan duludseglutuussemeaniiniuglosign (Tu

slnailes) ilvsaden (A) Wuraeuiignses

696. Which layer has the coldest average

temperature?

(A) troposphere

(B) stratosphere

(C) mesosphere and ionosphere

(D) thermosphere

696. TuusIEINFlALgYTiladesTian

Y

A) Wstnafles

(B) amslaales

[

(©) Awaileswazlaloluaines

(D) wastuaes

A1a5Ue: InAseziuhsangivestulilvaiiesuasleleluaifiesadlulifa -212 samds

MNINAANYNTUUTTEINA vilvsden (C) gndes
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fdeniigalalineumuruivesiiowsonuyuesdiuin
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- faifinasafigndesualilddneuvesanuiiu
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This excerpt is from A Christmas Carol

by Charles Dickens.

“A merry Christmas, uncle! God save
you!” cried a cheerful voice. It was the voice
of Scrooge’s nephew, who came upon him
so quickly that this was the first intimation he

had of his approach.

17

“Bah!” said Scrooge, “Humbug

He had so heated himself with rapid
walking in the fog and frost, this nephew of
Scrooge’s, that he was all in a glow; his face
was ruddy and handsome; his eyes sparkled,

and his breath smoked again.

“Christmas a humbug, uncle!” said
Scrooge’s nephew. “You don’t mean that, |

am sure?”

“l do,” said Scrooge. “Merry Christmas!
What right have you to be merry? What reason

have you to be merry? You’re poor enough.”

“Come, then,” returned the nephew
gaily. “What right have you to be dismal?
What reason have you to be morose? You’re

rich enough.”

Scrooge having no better answer ready on
the spur of the moment, said, “Bah!” again;

and followed it up with “Humbug.”

TBX I1nSuudou GED IaU 2 Science & RLA
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“Don’t be cross, uncle!” said the nephew.

“What else can | be,” returned the uncle,
“when [ live in such a world of fools as this?
Merry Christmas! Out upon merry Christmas!
What’s Christmas time to you but a time for
paying bills without money; a time for finding
yourself a year older, but not an hour richer; a
time for balancing your books and having every
item in "em through a round dozen of months
presented dead against you? If | could work
my will,” said Scrooge indignantly, “every idiot
who goes about with ‘Merry Christmas’ on his
lips, should be boiled with his own pudding,
and buried with a stake of holly through his
heart. He should!”

1”

“Uncle!” pleaded the nephew.

[k

“Nephew!” returned the uncle, sternly,
“keep Christmas in your own way, and let me

keep it in mine.”

“Keep it!” repeated Scrooge’s nephew.

“But you don’t keep it.”

“Let me leave it alone, then,” said
Scrooge. “Much good may it do you! Much

good it has ever done you!”
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“There are many things from which |
might have derived good, by which | have not
profited, | dare say,” returned the nephew.
“Christmas among the rest. But | am sure |
have always thought of Christmas time, when
it has come round—apart from the veneration
due to its sacred name and origin, if anything
belonging to it can be apart from that—as
a good time; a kind, forgiving, charitable,
pleasant time; the only time | know of, in the
long calendar of the year, when men and
women seem by one consent to open their
shut-up hearts freely, and to think of people
below them as if they really were fellow-
passengers to the grave, and not another race
of creatures bound on other journeys. And
therefore, uncle, though it has never put a
scrap of gold or silver in my pocket, | believe
that it has done me good, and will do me

good; and | say, God bless it!”

The clerk in the tank involuntarily
applauded. Becoming immediately sensible
of the impropriety, he poked the fire, and

extinguished the last frail spark for ever.

“Let me hear another sound from you,”
said Scrooge, “and you’ll keep your Christmas
by losing your situation! You're quite a powerful
speaker, sir,” he added, turning to his nephew.
“I wonder you don’t go into Parliament.”

“Don’t be angry, uncle. Come! Dine with
us tomorrow.”

Scrooge said that he would see him—yes,
indeed he did. He went the whole length of
the expression, and said that he would see
him in that extremity first.

“But why?” cried Scrooge’s nephew.
“Why?”

“Why did you get married?” said Scrooge.
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“Because | fell in love.”

“Because you fell in love!” growled
Scrooge, as if that were the only one thing
in the world more ridiculous than a merry

Ik

Christmas. “Good afternoon

“Nay, uncle, but you never came to see
me before that happened. Why give it as a

reason for not coming now?”
“Good afternoon,” said Scrooge.

“I' want nothing from you; | ask nothing

of you; why cannot we be friends?”

“Good afternoon,” said Scrooge.

“I'am sorry, with all my heart, to find you
so resolute. We have never had any quarrel,
to which I have been a party. But | have made
the trial in homage to Christmas, and I’ll keep
my Christmas humour to the last. So A Merry

Christmas, uncle!”

“Good afternoon!” said Scrooge.

'”

“And a Happy New Year
“Good afternoon!” said Scrooge.

His nephew left the room without an
angry word, notwithstanding. He stopped at
the outer door to bestow the greetings of the
season on the clerk, who, cold as he was, was
warmer than Scrooge; for he returned them

cordially.
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731. Based on the excerpt, what does Scrooge  731. 9MnunANUFARUINT Yinlvins1uinansa

think about Christmas? Anagnalsiumeniansanuna
(A) He thinks Christmas is the best time of (A) wrdadesasuadutnainfigavesd
the year. (B) WwtnAgamAnIanIanuaE

(B) He hates Christmas. (©) WwIFurauNLl g AT UATEUASIVEILUN

(C) He likes to spend Christmas with his Turemsanuna
family. (D) WNVBURALRADILNANIARSARLIARILNT

(D) He likes to celebrate Christmas by ﬁuqﬂam suUndaduvedlusavean

eating his favorite humbug candies.

Aasune: azdunaliannluunanuingagaliveumeanianiadung ndernunin “lawinladi
nnALWgmnlunIIn ‘qududiuasaduna’ ssdesgnionlususiuiunafavenindu uazgnils
Tnafiauvinunaniwesiugeadidaunzgilal wandfuauasiauwuutiul” fauden (B) Fadum
P v oA A a oA = 9 1a o = ] o A o v
nauTignaed fuden (A) Aedsnvauyevesaniate lilvdwangate diudiden (O Adauds
fuunANMIUiY nTzansaufrasandguewvaiunenviulnldnasuiuluteesading uay

v A

fuden (D) davislsinszangaldinin “humbug” Wumaun Wildldwedsgnaniiunlusausiu

o/ ¢

ANN: celebrate v. LRANRADY

732. Based on the passage, which of the 732. :nuvnaiu fidenlasdeluilesuredisansa
following is an accurate description of Scrooge LLazwa’m‘U’l‘c’ﬂJENL%Wlﬁgﬂéfmﬁqm

and his nephew?

(A) Scrooge is miserable and wealthy, (A) AAgIR1sulBwaAziIe Tuvniei
whereas Scrooge’s nephew is amicable waumevasaagaduiinsuaclidostolny
and forgiving. InssiAesriau

(B) Scrooge is amicable and forgiving, (8) angaluiinsuazlirssiolnuyinssfieay
whereas Scrooge’s nephew is miserable au I‘wUmzﬁ‘wmmﬂU%aﬂaﬂgﬁ]mimﬁwLLaz
and wealthy. 31578

(C) Scrooge is miserable and poor, © aﬂga}msmﬁwmaxmﬂw Tuvauevianu
whereas Scrooge’s nephew is amicable %wamaﬂaﬂgaL‘fJuﬁmLLaz%’ﬁw

and wealthy. (D) angaludinsuazsnaie Tuvagiivanuwe

(D) Scrooge is amicable and wealthy, Yo3anF It ondauazanaduluLisy
whereas Scrooge’s nephew is arrogant

and cynical.
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734. What is Scrooge doing when he tells his  734. anganenguagyhezlsdewiveniunaiu
nephew, “You’re quite a powerful speaker, sir. g1 “viudigrndutdnyeaiivsmdndessuzasu

| wonder you don’t go into Parliament”? nIzrNazasdeass o 1vihluvinudslllududnnis
ieq”
(A) Scrooge s praising his nephew’s () angardsturaiivarumeveay el
excellent speech. (B) AAFAANTIMAUYILVDUYIAITALAY
(B) Scrooge thinks his nephew should mslosuaziddlviruugihifiusslow
go into politics and is offering valuable Aenfunisussnouen@n
career advice. (C) anganasUszyauszdu
(C) Scrooge is being sarcastic. (D) angafndmatuyevetIzlugsou
(D) Scrooge thinks that his nephew would gefefiAkazidaauonuliiash

make a great partner and is offering him

a job.

1%
o

Arasune: wulddninangalnssuanuievesuuazliviumeiuddivaunnere s Ay
= ] vas & o o oA = & o - v
nsfiaazaruImvaugresunalandulunisuszynusedu duden (C) Iudumeungnees
o ¢ . a a N Lo v = =
AWV praise v. YUY, @3558y | sarcastic adj. F9UsTVAUIEYU, BUFUAE

v [

735. Why does Scrooge repeat the phrase 735. winlaangadamndn “adan” dmaieadly
“good afternoon” several times toward the P17V L NAANDUNT

end of the excerpt?

(A) Scrooge knows that his nephew has (A) #AFINIIVIVATUYDLYTUNNIDINANT
a hearing problem, so he wants to make 18U wisesnagsiulaimaruvesnléidy
sure his nephew heard him. éﬁﬁvmwuﬁ

(B) Scrooge wants to end the (8) aﬂgaﬁaqmsqawaummﬁ
conversation. (O) angRaynawuiumanansaduady
(C) Scrooge is full of Christmas spirit and sthannuazidaditrsaniinlutieudy

is having a very good afternoon. (D) angaEuiiongunnudInasinyaAaAy
(D) Scrooge is getting old and often 6?23:’1 9

repeats himself.

Aesune: lutshevesunaruazdanalditansasunuamnueavuiunaIumeveaielens
ogeBauardesmsgiunaunun Jadiulddain “atai” Wuniswailesinun dden (8) Fadu

Fnoufignios daiden (A) uae (D) Tusnidldnasluumenulaifdulassyimaumevosangs
unnsesnamslaBunieansaiuiionginnuduazinyadudiue 9 dududen (© tufiautueu

wswanzldldaunauuliiunanianiadiunaae
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